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?341� � ����1�2�8 62�412��41�� p �-��41�/ N 6�.�9���5 ��7�4��
� �7a��1� pO
i �

8�8��1/ �2�8��� ti (i = 1, . . . , N)� 62� D1�8 �27�1�.���� ���9���� �7a��1� �6�4/���14;

8���.��

pC = pC(t,q, E), E = n(t− t0) + E0, F�H


�� qe �27�1�.��/� 6�2�8�12/� ����-��:�� �62���.;���� 12���1�2�� ��7�4��
� 1�.�P

E e 7/412�; 6�2�8����;P n e :�41�1�� � E0 e 6�2�8����; E � D6�03 t0� ?2� D1�8 pC

2π(6�2����:�� 6� E� 1��� pC(t,q, E) = pC(t,q, E + 2π)�

?�.�9�8 6���� :1� 6�2�8�12/ q �� -���4;1 �1 n� � 2�448�12�8 ����2�1/ 2�441�;��5

ρ2
i = ρ2(pO

i ,p
C
i ) 8�9�3 6�.�9���;8� pO

i � pC
i ��� >3��=�� n# ρ2

i = ρ2
i (n)� B�123���



	

����1�� :1� >3��=�� ρ2
i 6�2����:�/ 6� n 4 4��1��141�3���8� 6�2����8� 2π/(ti − t0)�

� 4�.3 D1�
�� �:������� 42��������2�1�:�4��; ��.�:���

σ2 =
1

N

N∑
i=1

ρ2
i , F�H

73��1 �8�1� 7�4����:��� 8��9�41�� 8���838�� ���.� n� W.�����1�.���� 8���8�-�=�;

σ2 6� n 73��1 ����1� 8��9�41�� 2�����5� �- ��1�2/0 1�.��� ���� 4��1��141�3�1 �41��(
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6�2�8�12H ��6�42��41����� 4�;-��/ 4 :�41�1�5 n� ?�D1�83� ���7�� 
���2;� ρ2
i ���-/��(

�14; �� 6�2����:�/8� 6� n� I�8 �� 8���� 62� ��41�1�:�� 7�.���0 ��.�:���0 ti − t0

>3��=�� ρ2
i � ��2�41��41� �41����5 :�41�1/ n̄ 73�31 �:��� 7.�-�� � 2�448�12���/8

�/�� 6�2����:�4��8 4�41��.;���8 �� 4.�����1�.���� 62�7.�8� 8��9�41�����41� 8�(

��838�� �.; σ2 -��4� 1��9� 73��1 �8�1� 8�41��

f�2��1�2��; �4�7����41� � 6�������� σ2 �1��4�1�.��� n� 2�4�2/���1 
���-�4 62�(
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>3��=�� ���� F�H� ��1�2�; �/2�9��1 41�6��� 7.�-�41� ��7.����8/0 � 8���.�23�8/0

6�.�9���5 �7a��1� � 62�412��41�� p� ?� �2�5��5 8�2�� ���� �- 6�2�8�12�� �7;-�1�.���

4�;-�� 4 :�41�1�5 n� �� D1� �741�;1�.�41�� ��� 2�- � 41�����14; 62�:���5 ������-��:(

��
� �62���.���; 4631������5 �27�1/�

b�448�12�8 6��2�7��� 62�7.�83 8��9�41�����41� 2�����5 �� 62�8�2� �23
���5

-���:�� 
�� .�
�� 3���14; 6�.3:�1� ����.��� ;4�/� � � 1� 9� �2�8; 6�.�-�/� �.;

62��1��� 2�-3.�1�1/� 6�-��.;����� �2�8� 1�
�� �=���1� �4� ��9��41� �44.��3�8�5

62�7.�8/�

����	�
� �
�
�


� ��86.��4��5 6.�4��41� �23
��3� �27�13 8�9�� 62��41���1� ���

x = aeiE , E = n(t− t0) + E0, n =
√
μ/a3, F�H


�� x e 6�.�9���� 1�:��P a e 2���34 �27�1/ F7�.���; 6�.3�4�HP E e 7/412�; >�-�

F���8�.�;HP n e :�41�1� �72�����; F42����� ���9����HP t e �2�8;P E0 e >�-� ��

��:�.��/5 8�8��1 �2�8��� t0� � μ e 
2���1�=����/5 6�2�8�12�

b�448�12�8 4�8�541�� �27�1 ���� F�H � �=���8 ��.�:��3 2�-��41� 6�.�9���5 x

� x̄ �� �27�1�0 Fa, E0H � Fā, Ē0H 4��1��141������ W�
.�4�� F�H 2�-��41� δx ��123���

62��72�-���1� � ���3

δx = x(t, a, E0) − x̄(t, ā, Ē0) = āeiE [1 + α− e−i(λν+β)], F	H
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b�43��� � e ?�������� >3��=�� f = α2 + 2(1 + α)(1 − cosϕ) 62� λ = 10


�� α = (a − ā)/āP β = E0 − Ē0P ν = (n − n̄)/n̄� � λ = n̄(t − t0)� ?�.�
�;� :1� α �
1� 4 1�:��41�� �� 6�2��
� 6�2;��� 8�.�41� 73��8 �8�1� �=���3 2ν = −3α� I�
�� �

4��1��141��� 4 F	H ����2�1 ��.�:��/ δx 73��1

|δx|2 = ā2[α2 + 2(1 + α)(1 − cosϕ)], ϕ = 3
2
λα− β. F�H

,14��� ������ :1� 6�������� |δx|2 62� 8�./0 α� 
.���/8 �72�-�8� 73��1 �62���.;1�4;
>3��=��5

f = α2 + 2(1 + α)(1 − cosϕ). F&H

B� 2�4� � 6���-��� 6�������� >3��=�� f � -���4�8�41� �1 α � β 62� λ = 10� ��� ���(

��� 2�.��> 6���20��41�� -������8/5 f � �8��1 ��2�9�3� 4123�1323� ?2� D1�8 4.��3�1

-�8�1�1�� :1� 3��.�:���� λ 62�����1 � 6��/����� 41�6��� ��2�9��41� f �

I�6�2� 6�.�9�8� :1� 2������ x̄ 62��41��.;�1 ��7.����8/� 6�.�9���; ��7�4��
�

�7a��1� �� ��86.��4��5 6.�4��41� � ����1�2/� 8�8��1/ ti� � 6�41���8 6�2�� 4�7�5

-���:3 �1/4��1� 1���� -��:���; 6�2�8�12�� α � β� ��1�2/� 7/ ��41��.;.� 8���838

=�.���5 >3��=��

σ2 =
1

N

N∑
i=1

|δx|2i , F�H


�� N e :�4.� ��7.�����5� �3��8 2�448�12���1� 1���� ��7.�����;� �.; ��1�2/0 �2�(

8���C�; 3��.����41� �1 ��:�.���5 D6�0� |λ| � 0� I�
�� 6�������� σ2 � -���4�8�41�

�1 α � β 73��1 �62���.;1�4;� 
.���/8 �72�-�8� 12�
���8�12�:�4��8� 4�41��.;���8��

?�D1�83 >��1�:�4�� ��4 ��.9�� ��1�2�4���1� >3��=�; ����

fcos = 1 − 1

N

N∑
i=1

cosϕi, ϕi = 3
2
λiα− β. FOH

W.��3�1 -�8�1�1�� :1� 62� ��41�1�:�� 7�.���0 λi� �1.�:����04; �23
 �1 �23
� ��

��.�:��/ 8����� 6�2;��� α−1� >3��=�; 73��1 ��41� 4�7; 6�:1� ��� ���� 12�
���8�1(

2�:�4��; 4�41��.;���;#

fcos ≈ 1 − cosϕ,



&


�� � ��:�41�� λ �/7�2��14; ���� �- -��:���5 λi� W.�����1�.���� �4� ��7.�����; 4

1���8� λi 8�9�� �7a�����1� � 
23663 � 2�448�12���1� ��� ���� ��7.������� g4.�

1���0 
2366 ��4��.���� 1� 6�������� >3��=�� 8�9�� 62��41���1� ���

fcos ≈ F ≡ 1 −
M∑

j=1

kj cos (ωjα− β), kj =
Nj

N
, ωj =

3

2
λj, F$H


��M e :�4.� 
2366P kj e ��4 j(
2366/� �62���.;�8/5 :�4.�8 ��7.�����5 � 
2366� Nj �

� λj e ���� �- -��:���5 λ j(
2366/� ?2� D1�8 73��8 6�.�
�1�� :1� λ1 � λ2 � . . .� λM �

h46�.�-3; �-��41�/� 12�
���8�12�:�4��� 1�9��41��� F 8�9�� 6�2�6�4�1� ���

F = 1 −A cos (β + ψ), 
�� A =
√
c2 + s2, ψ = KL
S*(s/c), F��H

c =
M∑

j=1

kj cos (ωjα), s =
M∑

j=1

kj sin (ωjα).

,14��� F 2π(6�2����:�� 6� β � 62� >��4�2������8 α �8��1 ����41����/5 8���838

�� 6�.3��1�2��.� (β0 − π, β0 + π] �.; .�7/0 β0 ∈ (−∞,+∞)� W.�����1�.���� �7.�41�

�44.�������; F 6� β 8�9�� �
2���:�1� �� .�7�
� 6�.3��1�2��.� �.���5 � 2π�

�����8 0�2��1�2�41��3

Φ(α) = min
β∈(−π,+π]

F (α, β), F��H

��1�2�; 62�8�:�1�.��� 1�8� :1� �� -���4�1 �1 �/7�2� ��:�.���5 D6�0�� ��541��1�.����

�-8������ ��:�.���5 D6�0� t0 → t0+Δt 4�
.�4�� F$H 62�����1 � 62��72�-������ 4���
�

���.� β#

F (α, β)|t0+Δt = F (α, β + Δβ)|t0 , 
�� Δβ ∝ αΔt.

I�
�� ����3 3��-���/0 �/�� 4��541� F

min
β∈(−π,+π]

F (α, β)|t0+Δt = min
β∈(−π,+π]

F (α, β + Δβ)|t0 = Φ(α).

i�8�1�8� :1� 0�2��1�2�41��� Φ(α) ;�.;�14; ����-��:��5 >3��=��5 α� 6�D1�83 8�(

��838/ Φ(α) 6� α 73�31 ����-��:�� 4��1��141����1� 8���838�8 F (α, β) 6� α � β ∈
(−π,+π]� h- F��H .�
�� 6�.3:�1� >�283.3 �.; Φ#

Φ(α) = 1 − A(α). F��H

B�123��� 1��9� ����1�� :1� ��D>>�=���1/ c � s 8�9�� 62��41���1� ���#

c =
1

N

N∑
i=1

cos (ωiα), s =
1

N

N∑
i=1

sin (ωiα).

B��70���8� 1��9� �72�1�1� �4�7�� ���8���� �� 1�� :1� 2�.��> 6���20��41�� -�����(

�8�5 >3��=��5 F (α, β)� � ��2�41��41;0 8���838�� �8��1 4�.��� ��2�9�3� 4123�1323�

<1�� 
.���/8 �72�-�8� �734.��.��� 7�.���8� :�4.�8� ωj� ��541��1�.���� 4 1�:��41��



�

�� 8�./0 �1�2�
� 6�2;��� 6�������� F (α, β) � ��2�41��41� 12����.���
� 8���838�

α = β = 0 8�9�1 7/1� 62��41��.��� >3��=��5

Q(α, β) =
1

2
(κ11α

2 + 2κ12αβ + κ22β
2), F��H


��

κ11 =

M∑
j=1

kjω
2
j , κ12 = −

M∑
j=1

kjωj, κ22 = 1. F�	H

�2������� Q(α, β) = 
VMYS �6�4/���1 ����1�2/5 D..�64 � 6.�4��41� (α, β) 4 =��12�8 �

12����.���8 8���838�� h- ���.�1�:�4��5 
��8�12�� �-��41��� :1� ����2�1 �1������;

C 7�.���5 6�.3�4� D..�64� � 8�.�5 62��41���8 � ����

C2 =
κ11 + κ+ κ22

κ11 − κ+ κ22

, 
�� κ =
√

4κ2
12 + (κ11 − κ22)2.

,14���� 3:�1/��; F�	H� 62� ��41�1�:�� 7�.���0 ωj 73��8 �8�1�

C2 ∼ κ11. F��H

�62�:�8� 41�6��� ��2�9��41� 8�9�� 4.�
�� 38�����1� 631�8 �/7�2� ��:�.���5

D6�0� t0� W�
.�4�� 62�7.�9����5 �=���� F��H �1������� C
2 73��1 7.�-�� � 8���8�.�(

��83 62�

t0 =

M∑
j=1

kjtj ,


�� tj e ���� �- �2�8���C/0 8�8��1�� ��7.�����5 j(
2366/� j��1�:�4�� D1� �-��:��1�

:1� �.; 38�������; ��2�9��41� F (α, β) � ��:�41�� ��:�.���5 D6�0� 4.��3�1 �/7�2�1�

42����� �2�>8�1�:�4��� �4�0 8�8��1�� ��7.�����5� h- �-��41�/0 ��8 �41�:����� �7

D1�8 �6�2�/� 36�8����14; � Fd�2��=��� �$��H� �41�1�� 1���5 �/7�2 ��:�.���5 D6�0�

62�����1 ����2�1�:�4�3� >�283 F��H � ������:�4��83 ���3� 6�4��.��3 κ12 �72����14;

� �3.��

�.; �44.�������; >3��=�� F 3��7��� 2�448�12���1� �� � ����

F = 1 −
M∑

j=1

kj cos((lj − l0)ζ − β), F�&H

ζ =
3

2
α(λM − λ1), lj =

λj − λ1

λM − λ1
(j = 0, . . . ,M), λ0 = 0.

i��4� ��.�:��/ l0 � lj ∈ [0, 1] (j = 1, . . . ,M) 62��41��.;�1 �2�8���C�� 2�462���.����

4��1��141����� ��:�.���5 D6�0� � 
2366 ��7.�����5 �1��4�1�.��� 6�2��5 
2366/�

b�448�12�8 4.3:�5 ��30 
2366 ��7.�����5 FM = 2H ���������
� ��4� Fk = 1/2H�

<1�1 4.3:�5 4��1��141�3�1 2�462���.���� �8����04; �� ����/5 8�8��1 ��-�8�/0

��7.�����5 7.�-��
� 4631���� E6�1�2� ��2�41�� FG��H� B� 2�4� � 62��41��.��� 6���(

����� >3��=�� F (ζ, β) F�&H 62� 2�-.�:�/0 l0 ∈ [0, 1/2]�

h- 2�43��� ������ :1� �-8������ 6�2�8�12� l0� 1��� �-8������ ��:�.���5 D6�0��

62�����1 � 4���
3 2�.��>� 6���20��41� F (ζ, β) ���.� β� ?2� D1�8 8��;�14; � 41�6���
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b�43��� � e ?�������� F (ζ, β) �.; ��30 
2366 ��7.�����5 ���������
� ��4� � 2�-.�:(

�/0 l0# ���� ���� ��	 � ��� F4��203 ���- 4��1��141�����H F4631��� ��2�41�;H
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b�43��� � e ?�������� Φ(ζ) �.; ��30 
2366 ��7.�����5 ���������
� ��4� F4631���

��2�41�;H

��2�9��41� 2�.��>�# 1��� ��2�
� 62� l0 = 0 F��:�.���; D6�0� �7.�-� 8�8��1�� 6�2(

��5 
2366/ ��7.�����5H -�8�1�� 7�.�� �/1;�31/�� ��9�.� 62� l0 = 1/2 F��:�.���;

D6�0� ��0���14; � =��12� 2�448�12����8�
� �2�8���C�
� ��1�2��.�H� <1� 2�-3.�1�1/

6��1��29���1 ���� �/���/� 4��.���/� �/��� � 6�������� >3��=�� F �

� 1� 9� �2�8; 0�2��1�2�41��� Φ �41��14; ���-8����5 �.; .�7/0 l0 F2�4� �H� � �7��8

4.3:��� 62� 2�-.�:�/0 k1 = k � k2 = 1 − k� 
�� k ∈ (0, 1)� 0�2��1�2�41��� Φ 4�
.�4��

F��H � F��H 62��41���8� ���

Φ = 1 −
√

1 − 2k(1 − k)(1 − cos ζ).

h- ��.�:�; 12�
���8�12�:�4��5 4�41��.;���5 � 0�2��1�2�41��� Φ 4.��3�1� :1� �.;

.�7/0 ��30 
2366 ��7.�����5 43��41�3�1 8��9�41�� 2����-��:�/0 8���838�� F �

��1�2/� 4��1��141�3�1 -��:���;8 ζ = 2πm �.�

α =
4πm

3(λM − λ1)
=

2

3

m

R
, F��H


�� m e =�./� :�4.�� � R e :�4.� �7�2�1�� �7a��1� -� λM − λ1�

W.3:�5 12�0 
2366 ��7.�����5 F��9� 2������4�/0H 
�2�-�� 7�.�� 4.�9�� �.; �4(

4.�������;� ?�D1�83 2�448�12�8 1�.��� :�41�/5 4.3:�5� 4��1��141�3���5 2�462���(

.���� ��-�8�/0 ��7.�����5 4631���� ��1��/ FG�&H# k1 = 0.28� k2 = 0.16� k3 = 0.56�

l1 = 0� l2 = 0.92� l3 = 1�

f�2��1�2�41��� Φ F2�4� 	H 1��9� ��� � � 4.3:�� ��30 
2366 ��7.�����5 �8��1

8��9�41�� 8���838��� ?2����� �1.�:�1�.���5 �4�7����41�� 0�2��1�2�41��� �.; 12�0


2366 ;�.;�14; 1�� :1� D1� 8���838/ �� 2����-��:�/� � �� 2�448�12����8�8 ��1�2��.�

�-8�����; ζ ;��� �/��.;�14; �74�.�1�/5 8���838� ��1�2/5 4��1��141�3�1 �41����83

2�������

�62�:�8� �4.� 2�462���.���� 
2366 ��7.�����5 1������ :1� ��.�:��/ lj 3���.�1��(

2;�1 2�-����4��83 4��1������� 1�6�

M∑
j=2

mjlj = 0, F�OH
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1

b�43��� � e ?�������� Φ(ζ) �.; 12�0 
2366 ��7.�����5 4 2�-����4�/8 2�462���.���(

�8# l1 = 0� l2 = 2/3� l3 = 1


�� mj 
= 0 e =�./� :�4.�� 1� 8�9�1 43��41����1� 8��9�41�� �74�.�1�/0 8���838��

F � ?2�:�8 6.�1��41� 2�462���.���; 1���0 8���838�� ���.� ζ 73��1 1�8 �/��� :�8 ��(

9� 73��1 6�2;��� 2�-����4� �.� :�8 8����� 73�31 ��.�:��/ mj� ?2�8�2 2�-����4��
�

2�462���.���; 
2366 ��7.�����5 �.; M = 3 62��41��.�� �� 2�4� �� 
�� �46�.�-����/

1� 9� ��4�� :1� � �.; ��7.�����5 ��1��/� i��4� �8��1 8�41� 2�-����4 l2/l3 = 2/3�

��1�2/5 62�����1 � 8��9�41�3 2����8�2�� 2�462���.���/0 ���.� ζ �74�.�1�/0 8�(

��838�� 4 ��1�2��.�8 6π� ,:������� �4.��41��� 6��/����; 6�2;��� 2�-����4� F�OH

3��.�:���� :�4.� 2�-2�-����/0 
2366 M 73��1 38�����1� 6.�1��41� �74�.�1�/0 8�(

��838���

h�1�2�4�� 1��9� 4.3:�5 8��
�:�4.���/0 2����8�2�� 2�462���.���/0 � 2������4(

�/0 
2366� B�123��� 6���-�1�� :1� 62� ��41�1�:�� 7�.���8 M

F ≈ F∞ ≡ F |M→∞ = 1 − 1

ζ
[sin((1 − l0)ζ − β) − sin(−l0ζ − β)].

I�
��

Φ ≈ Φ∞ ≡ Φ|M→∞ = 1 −
∣∣∣∣2ζ sin

ζ

2

∣∣∣∣ .
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b�43��� & e ?�������� Φ∞(ζ)

?�������� Φ∞ 62��41��.��� �� 2�4� &� �1�3�� ������ :1� ��9� 62� 6.�1��8 2�462���(

.���� 
2366 ��7.�����5 >3��=�; F 1��9� 73��1 �8�1� 8��9�41�� 8���838��� 42���

��1�2/0 ;��� �/��.;�14; ����41����/5 �74�.�1�/5 8���838�

h- 2�4� & 8�9�� �-�.�:� ��4��.��� ��3�� �� 1��9� ��4�8� 6�.�-�3� �.; 62��1�(

�� ��>�28�=�� � 6�������� =�.���5 >3��=��� ��6341�8� �.; 8���8�-�=�� =�.���5

>3��=�� σ2 �46�.�-3�14; ����5(.�7� :�4.���/5 F�1�2�=����/5H 8�1�� 1�6� @�344�A

B��1���� I�
�� 
2�>�� �� 2�43��� >��1�:�4�� ���1 62���.��/� �=���� 8��4�8�.���

��-8�9�/0 -��:���5 ζ � 62� ��1�2/0 �1�2�=����/5 8�1�� ��� 8�9�1 �8�1� 40���8�41�

� 12����.���83 8���8383� g4.� ��:�.���� 62�7.�9���� �27�1�.��/0 6�2�8�12�� 1�(

����� :1� |ζ | > 2π �.�� ���:� 
���2;� ���7�� � 7�.���5 6�.3�4� ��41�.��� 7�.���;�

:1�

|α| > 2

3

1

R
,

1�� 4��2�� �4�
�� 8�1�� �� 73��1 40��;��84; ��9� 62� 6.�1��8 �2�8���C�8 2�462���.�(

��� 8�8��1�� ��7.�����5� ,:������� ��1�2��. 40���8�41� F6� αH � 12����.���83 8�(

��8383 73��1 1�.��� 3��2�:���1�4; 62� 62�2�9������ ��7.���1�.��/0 ����/0 F48��

��62�8�2� 2�4� �A�H� �/ ����8 � D1�8 ��-8�9�3� 62�:��3 ��3��:� W��7�2� F"_N`_LU�

�$&$H � 6�6/1�� 6�.3:�1� ����3� 4�41�83 D.�8��1�� �8�.�1�� 6� ��38 
2366�8 ��(

7.�����5� 2�-a�������/0 6�:1� ��(.�1��8 �2�8���C/8 ��1�2��.�8� ?�(����8�83� 6�2(

����:�.��/� �=���� 6�2�8�12�� 7/.� ��41�.��� 
237/8�� :1� ��� 62�41� �� 6�6�.� �

�7.�41� 40���8�41� 8���8�-�23���
� 8�1����

B�48�12; �� 1�� :1� 62� |λj | � 0 =�.���; >3��=�; σ2 F�H ��41�1�:�� 0�2��� 62��(

41��.;�14; �� 12�
���8�12�:�4��5 4�41��.;���5 fcos FOH� 6�2��; � �1.�:�� �1 6�4.����5

�4�
�� 73��1 �8�1� 1�.��� ���� �74�.�1�/5 8���838 � α = β = 0� 4��1��141�3���5

�41����83 2������ x̄� 
�� =�.���; >3��=�; �72����14; � �3.�� <1� 4�;-��� 4 ��.�:��8

� σ2 ����2�1�:��
� :.��� α2� � �23
�0 8���838�0 =�.���; >3��=�; 62���8��1 4�8/�

2�-���72�-�/� F���3.��/�H -��:���;� ?�D1�83 � ����8 4.3:�� -� �2�1�2�5 �41����41�

�4��8�
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q 8/ 8���.�2���.� F1�:�/�H ��7.����8/� 6�.�9���; pO = (pO
1 , p

O
2 ) F3
.��/� ���2(

����1/ 4631����H � 8�8��1/ 2��.��/0 ��7.�����5 FN = 90H� 2�442���1�:���/0 ��

���=�0 ��1�2��.� �2�8��� �� .�1 ��� ��� 6�:1� 2������4�/� 
2366/� B�:�.���; D6�0�

t0 7/.� �-;1� � 4�2����� �2�8����
� ��1�2��.��

��2��23; D.�8��1/ a � e � 6�.3:�; 2�-.�:�/� ��:�.��/� 62�7.�9���; q0� 8/ �62�(

��.;.� �27�1�.��/� 6�2�8�12/ q 6� pO � 4��1��141��� 4� 40�8�5 F��H 62�8���1�.���



��

-0.0004 0 0.0004 0.0008 0.0012 0.0016 0.002
0

0.04

0.08

0.12

0.16

0.2

e

492
929

1690
2329

2192
125

88
56

44
21

18
16

6
7

5
2

2
5

4

1

0.46''
0.23''

0''
0.23''

0.45''
0.67''

0.9''
1.1''

1.3''
1.6''

1.8''
2''

2.2''
2.4''

2.6''
2.9''

3.1''
3.3''

3.5''

3.9''

( ,e)

b�43��� � e ���9�41�� 2�����5 � 6.�4��41� (α, e)

� F�&H� I���8 �72�-�8� �/6�.��� 8��
�:�4.���/5 2;� D�46�2�8��1��� 8/ �7��239�(

.�� :1� �1�2�=����/5 62�=�44 40���14; ��.��� �� 62� �4�0 q0� � �4.� � 40���14;� 1�

�� �4�
�� � �41����83 2������� ?2�:�8 �7.�41� 40���8�41� � �9����8/8 D.�8��1�8
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∑
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�� 62��/������ ��.�:��3 0.4′′ F1�7.� 	H� :1� 
���2�1 � 0�2���8 4�
.�4�� 4 ������5

1�:��41�� ��-�8�/0 ��7.�����5� F� 1�7.� 	 62������/ 1��9� :�4.� �734.��.����41�

��28�.��/0 8�12�= 
VMNQ � �2�8���/� ��1�2��./ Δt � ΔE� 6��2/������ 8�8��1/

��7.�����5� 4��1��141����� � 
���0 � � �7�2�1�0 4631�����H B��;-�� Δp1 cos p2 � Δp2�

�62���.;���� ��.�:��/ ���7�� σ� 62��41��.��/ �� 2�4� ��A�&� ?2� D1�8 ���70���8�

36�8;�31�� :1� � 62�=�44� �62���.���; 6�2�8�12�� 62��-����.�4� �172������ ��7.�(

����5� ���;-�� ��1�2/0 62��/��.� 6� ��.�:��� 3σ� I���8 �72�-�8� �- 7�-/ ����/0

7/.� �4�.�:��� ��4��.��� ��4;1��� 1���0 ��7.�����5�

�9� �18�:�.�4�� :1� �.; 6��/����; �6�2�1����41� �/:�4.�1�.���
� 62�=�44� �=��(

�� �27�1�.��/0 6�2�8�12�� �62���.;.�4� � ��� D1�6�# 4��:�.� 4 362������5 �23
���5

8���.�� 
�.�.���/0 4631������ � -�1�8 4 �46�.�-������8 �/4���1�:��5 1��2�� k�(

��5 '�� � 4�;-� 4 D1�8 ��1�2�4�� �18�1�1�� :1� �� �7��0 D1�6�0 8/ 6�.3:�.� 6�:1�

���� � 1� 9� 42��������2�1�:�4��� ���7��� 0�1; 62� D1�8 �62���.;�8/� 6�2�8�12/



�O

I�7.�=� � e ,=���� �27�1�.��/0 6�2�8�12�� 4631�����

x0 F����H ẋ0 F����x431H

�8�.�1�; Ft0 = 2449860.5 GqH

5.904259045649335 · 10−4 1.335508654469120 · 10−2

−9.649762725788387 · 10−4 6.580573675959994 · 10−3

−4.443404841108547 · 10−4 3.311479208243125 · 10−3

I�7� Ft0 = 2450464.5 GqH

−6.267081178161467 · 10−4 1.233321360075275 · 10−2

−1.230794598107236 · 10−3 −5.441693601047646 · 10−3

−5.898550029039168 · 10−4 −2.105071658282438 · 10−3

��2�41�; Ft0 = 2447498.5 GqH

−7.303981301488080 · 10−4 9.634657321571694 · 10−3

−4.031887607701157 · 10−4 −1.410217512755373 · 10−2

−1.986950951223992 · 10−4 −6.455413514235597 · 10−3

��1��� Ft0 = 2447498.5 GqH

1.859819984557366 · 10−4 −1.780689855999936 · 10−2

7.521256414899649 · 10−4 3.659703433891211 · 10−3

3.622658670920554 · 10−4 1.474969016967715 · 10−3

I�7.�=� � e ,4�3.�23���� �27�1�.��/� D.�8��1/ 4631�����

W631��� a · 103 F����H e i F◦H τ F431H σa F
′′H

�8�.�1�; 1.2165 0.0036 0.3063 0.5016 59.7

I�7� 1.4866 0.0145 1.1248 0.6776 73.8

��2�41�; 0.8682 0.0129 0.4613 0.3024 42.1

��1��� 0.8615 0.0074 0.0621 0.2989 42.0

I�7.�=� 	 e W1�1�41�:�4��� ����/�

W631��� σ F′′H N Δt F
�H ΔE F�7�H lg 
VMNQ

�8�.�1�; 0.284 707 47.7 34731 12.9

I�7� 0.161 465 6.4 3467 11.1

��2�41�; 0.386 90 12.0 14453 13.1

��1��� 0.333 178 12.0 14620 13.5
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b�43��� �& e B��;-�� 8���.� �.; ��1��/

7/.� 62��=�6��.��� 2�-�/8�� ?2�:��� D1�
� ;�.���; 4�41��1 � 1�8� :1� �
237.����

8���.� �27�1 
�.�.���/0 4631����� ��312� ����8�:�4��5 8���.� 7.�-��0 4631�����

62�����1� 
.���/8 �72�-�8� � ������5 ���7�� � ��.
�1� λ∗� :1� >��1�:�4�� �.�:�1

4���
 =�.���5 >3��=�� S ���.� 6�2�8�12��� ��6�42��41����� 4�;-���/0 4 :�41�1�5

�72�����; 7.�-��
� 4631����� 62�:�8 8���8�.��/� -��:���; S 4�02��;�14;� <1� 8/

6���-/��.� �/�� �� 62�8�2� �23
���5 -���:��

� 2�-3.�1�1� �62���.���; �27�1�.��/0 6�2�8�12�� ��8� 1��9� 7/.� 6�.3:��/ �0

����2��=����/� 8�12�=/ C = σ2Q−1� ��1�2/�� ��� �-��41��� 0�2��1�2�-3�1 2�462�(

��.���� 6�2�8�12�:�4��0 ���7��� W 62��1�:�4��5 1�:�� -2���; 8�12�=/ C 3��7��

62��41���1� � ����

C = σ2WTVW,


�� W � V e �21�
���.���; � ���
���.���; ����2�1�/� 8�12�=/� 4�41��.���/� 4��1(

��141����� �- ��62��.;���0 ��4��34�� 4�741����/0 ���1�2�� ��28�.���5 8�12�=/ Q

� �� �72�1�/0 4�741����/0 :�4�.� ��1�2/� � 34�:����5 >�28� ���/ � 1�7.� � � &� � :�41(

��41�� ��� 6���-/���1 1�7.� &� ��28�.��/� 8�12�=/ F�62�:�8� ��� � ����2��=����/�H

�8��1 7�.���� :�4.� �734.��.����41� F48� 1��9� 1�7.� 	H� <1� �/-���� 62�9�� �4�
�

1�8 >��1�8� :1� ��7.���1�.��/� ����/� 2�462���.��/ �� ��41�1�:�� 7�.���0 ��1�2(

��.�0 �2�8��� � 4�6�41��.���� 4 �27�1�.��/8� 6�2����8� 4631����� τ F1�7.� �H� W�;-�

8�9�3 �734.��.����41�� � �.����5 �2�8����
� ��1�2��.� >��1�:�4�� ��8� 39� 7/.�

6���-��� �� 62�8�2� �23
���5 ��36�2�8�12�:�4��5 -���:�� 
�� � ��:�41�� ��28�.���5

�/4136�.� 8�12�=�� �62���.;���; ����2�1�:�3� >�283 F��H#

Q =

(
κ11 κ12

κ12 κ22

)
.

W�6�41��.;; >�283./ F�	H � F��H� 8/ ����8� :1� �734.��.����41� Q ��6�42��41���(

�� -���4�1 �1 4388/ ����2�1�:�4��0 �1�.�����5 8�8��1�� ��7.�����5 �1��4�1�.���



��

��:�.���5 D6�0�� ?�D1�83 ���.3:��; �734.��.����41� ��41�
��14; 62� �/7�2� 42��(

���2�>8�1�:�4��5 ��.�:��/ �4�0 8�8��1�� ��7.�����5 � ��:�41�� ��:�.���5 D6�0��

h-��41�� 1��9�� :1� 6.�0�; �734.��.����41� ��28�.���5 8�12�=/ ��7.�
�62�;1(

�� 4��-/���14; �� 1�:��41� �� �72�����; F
.���/8 �72�-�8� -� 4:�1 34�.���; ���7��

��23
.���;H �� ��� 4.��41���� �� 40���8�41� �1�2�=�����5 40�8/ @�344�AB��1���� I�8

�� 8���� � ����8 4.3:�� :�4.� �734.��.����41� ���-/���14; �4� 9� ��� �� 41�.� 7�.�(

��8�� :1�7/ D1� 8�
.� 43��41����� �12�-�1�4; �� 1�:��41� �72�����; ��28�.���5

8�12�=/�

%����� 	"��!�

B�48�12; �� 8�.�41� 42��������2�1�:�4��0 ���7�� �.; ��2�41�� � ��1��/ F1�7.� 	H�

43��41�3�1 �4� 9� �23
�� 8���838/ >3��=����.� S� � ��1�2/0 ���7�� 62���8��1

7.�-��� -��:���;� F?�4��.��3 ��9� 8/ 73��8 2�448�12���1� 8��9�41�� 2�-.�:�/0

2�����5� ��41��.;���0 8���838/ S� �.; 3��741�� �-.�9���; �4� 6�2�8���/�� �1(

��4;���4; � 6�.3:���/8 �/�� �=����8 �27�1�.��/0 6�2�8�12��� 73��8 �7�-��:�1�

1�.���5�H d1�7/ ��51� D1� 8���838/� � 4��1��141��� 4 >�283.�5 F��H 8/ 62���2��(

2���.� -��:���; 6�.��5 D��2
�� H 4 ��
�8 ΔH = 2H̃/3R̃� -�1�8 6� 40�8� F�$H ���.�

62�7.�9���/� -��:���; 6�2�8�12�� q0 �� ������=� 4 �46�.�-������8 ��9��
� 62�7.�(

9���; q0 62���.� 39� �6�4���3� �/�� 62�=��323 3.3:����; 6�2�8�12��� �4�
� �.;

��2�41�� 7/.� �44.������/ �� 4�4����0 2�����5� 1�
�� ��� �.; ��1��/ e �� 4��1��1(

41�3���� 8���838�8 ζ/2π ≈ ±11 >3��=�� Φ(ζ) F2�4� ��H�

?2�8�:�1�.���� :1� �.; ��2�41�� �74�.�1�/5 8���838 42��������2�1�:�4��5 ���7(

�� ��41�
��14; �8���� � 2������ q̃ F1�7.� �H� ,������ � �
� ��2�41��41� �8��14; �23
��

7.�-��� 8���838/ σ� -��:���; ��1�2/0 �1.�:��14; �1 σ̃ �� ��.�:��/ 8����� 0.01′′

F2�4� ��H� ?�D1�83 3 ��4 �41� ��4��� �4������� 6���-2���1�� :1� ���.3:��� F� 48/4(

.� 7.�9�5��� � �41���/8 6�2�8�12�8H �=���� �6�.�� ��2�;1�� 8�
31 ��0���1�4; �

4�4����0 8���838�0�

b�-38��14;� ��-�����1 4�7.�-� 62��.�:� ���3� ��6�.��1�.��3� �62��2�3� ��>�2(

8�=�� � 4631�����/0 �27�1�0� �.; 1�
� :1�7/ 42��� 62��41��.���/0 �=���� �/��.�1�

���.3:���� B�62�8�2� 3:�1/��;� :1� 4631�����/� �27�1/ 6�:1� �23
��/� � D���1�2�(

�.��/�� 8�9�� �/7�2�1� �- ��-8�9�/0 �������1�� q 1�� ��1�2/� 4��1��141�3�1 ���(

8�����83 D�4=��12�4�1�13� .�7� ���.������� ,������ ��� 7/.� 6���-��� �� 62�8�2�

-���:� ��30 1�. F2�4� �H� �=����� ��.���� �1 �41���/0� 8�
31 ����1� �6�.�� 0�2����

D.�8��1/ 4 �62��2��5 1�:�� -2���;�

B� 2�4� �OA�� 6���-��� 2�462���.���� 2�����5 � �27�1�.��/0 D.�8��1�0 ���.� H �

h-��:�.��� 6�.3:����� 2������ q̃� ������ � 1�7.� �� 6�8�:��� �� 2�43���0 ��.�=�8� �

:�41��41�� ��62�8�2� �4.� 4�6�41���1� 2�4� �� � �$� ������ :1� ���8������ -��:����

D�4=��12�4�1�1� Fe = 8 · 10−4H 4��1��141�3�1 ��.��� �� 4�8�5 .3:��5 42��������2�1�(

:�4��5 ���7�� Fσ = 0.87′′H� �62�:�8� 1� 9� 4�13�=�; �8��1 8�41� � �.; ���.�����;

Fi = 0.18◦� σ = 0.64′′H F2�4� ��H�



��

I�7.�=� � e ��12�=/ W �.; 2�-.�:�/0 4631�����

�8�.�1�;

0.8271 0.5494 −0.0916 0.0468 −0.0526 −0.0278

−0.4842 0.7915 0.3644 −0.0694 −0.0342 −0.0172

0.2724 −0.2593 0.9261 0.0161 −0.0251 0.0037

−0.0373 0.0623 0.0287 0.7777 0.5536 0.2875

0.0766 0.0239 0.0131 −0.6218 0.7156 0.3077

0.0009 0.0051 −0.0133 −0.0355 −0.4206 0.9064

I�7�

0.8998 −0.3920 −0.1250 −0.0152 −0.1296 −0.0635

0.4149 0.8147 0.3904 −0.0977 0.0431 0.0167

−0.0514 −0.4110 0.9101 −0.0051 0.0099 −0.0025

−0.0170 0.1107 0.0588 0.8271 −0.5157 −0.1845

0.1236 −0.0369 −0.0136 0.5507 0.7380 0.3678

0.0016 −0.0061 0.0041 −0.0542 −0.4131 0.9090

��2�41�;

0.8507 0.4697 0.2313 −0.0249 0.0364 0.0167

−0.5225 0.7958 0.3022 0.0304 0.0350 0.0147

−0.0422 −0.3788 0.9245 0.0012 0.0037 −0.0083

0.0396 0.0094 0.0049 0.9078 −0.3958 −0.1322

0.0026 −0.0495 −0.0211 0.4172 0.8473 0.3243

−0.0026 −0.0058 0.0073 −0.0163 −0.3505 0.9364

��1���

0.9750 −0.2004 −0.0846 −0.0105 −0.0386 −0.0210

0.2172 0.8784 0.4231 −0.0457 0.0094 0.0038

−0.0106 −0.4320 0.9018 −0.0037 −0.0008 0.0039

0.0073 0.0294 0.0141 0.6769 −0.4841 0.5534

0.0448 −0.0056 −0.0018 0.3001 0.8684 0.3922

−0.0026 −0.0272 −0.0191 −0.6704 −0.1001 0.7345

I�7.�=� & e ��86����1/ ���
���.��/0 8�12�= V F4�741����/� :�4.� Q−1H

W631��� v1 v2 v3 v4 v5 v6

�8�.�1�; 5.259 · 10−2 5.709 · 10−12 5.008 · 10−2 6.595 48.56 12.23

I�7� 4.237 · 10−2 4.161 · 10−10 9.838 · 10−2 7.339 47.96 8.202

��2�41�; 9.023 · 10−11 0.183 0.505 1092 483.5 167.7

��1��� 0.128 1.823 · 10−11 0.222 76.81 511.8 79.14
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��

I�7.�=� � e ,27�1�.��/� D.�8��1/ ��1��/ � 42��������2�1�:�4��� ���7�� �.;

48�9�/0 2�����5

ζ/2π a · 103 F����H e i F◦H τ F431H σ F′′H

−11 0.8618 0.0120 0.2002 0.2991 0.987

11 0.8609 0.0101 0.2325 0.2986 1.119

I�7.�=� O e ,27�1�.��/� D.�8��1/ ��1��/ � 42��������2�1�:�4��� ���7�� �.;

48�9�/0 2�����5 � 4.3:�� ��30 
2366 ��7.�����5

ζ/2π a · 103 F����H e i F◦H τ F431H σ F′′H

−1 0.8615 0.0069 0.1933 0.2990 0.280

0 0.8615 0.0100 0.1682 0.2990 0.257

1 0.8615 0.0132 0.1488 0.2990 0.245

d1� ��4��14; ��1��/� 1� 2�-3.�1�1/ �44.�������; ��30 6���-2�1�.��/0 2�����5

����:�1�.��� 2�-��;.� 4�8����; 6� 6����3 �0 62����.�9��41� � 6�1��=��.��� 62�(

�8.�8/8 2�����;8 �.; �6�4���; 4631������5 �27�1/# ����/� � 1�7.� � 6���-/���1�

:1� 42��������2�1�:�4��� ���7�� 48�9�/0 2�����5 43��41����� 7�.��� ���7�� �-(

��:�.��� 6�.3:����
� 2�����; q̃ F1�7.� 	H� �2�8� 1�
�� ��1�2�4�� -�8�1�1�� :1� D�4(

=��12�4�1�1 � ���.������ �.; q̃ 62���8��1 ���8������ -��:���; F1�7.� �H�

?�.�-3;4� 4.3:��8� :1� 3 4631���� ��1��/ 12� 
2366/ ��7.�����5 F2�4� ��H� 8/

62���.� ��4�8� .�7�6/1�/5 D�46�2�8��1� 2�-3.�1�1/ ��1�2�
� ��
.;��� ��8��412�23(

�1 ��9��41� 62�7.�8/ ������-��:��
� �62���.���; �27�1 4 1�:�� -2���; 6.���2���(

��; ��7.�����5 4631����� � 73�3��8� �/ �62���.;.� �27�1�.��/� 6�2�8�12/ 6� ��38
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